1. ¥(8%4
EH4 N6 FEET L DB R S
BT AT IIESRCIPNIEspiER: 27w an)

1) FEIEFEH S 64 4H 7) MR [ITE=py
2) HHHT4 T BB ST B B 3R 8) # X A X
3) EEBES 24876054020004 9) Wl - B
4) B Sy EHfE BfExEl) OSEHE 10) HFHEA AF BEE1LH
5) ZHE[E%K 11) FHf—fE5 %
6) JEITHIMH 730 B B & 64 47 1A 12) HffiE A4 A aF 64 2H
(H447) £ &f0 84 3H31H 13) SEEMEA S0 64 2H
(B EEE) = £ A H 14) AifEAEGE M
15) iK% M
BGE EHNE
3. THAA
1) TPHRBHE 2) H 3) HOMy 4) F¥EL

-1- FEszdmd  H E TR



RE R

¥EB4L | AT 6 FE L O ERE RSB ER E TEHE IREGE
H H 1L TE T A S
THE - T - FER - M5 HAE BT & =S i AFA Ho SEEHE fi
1L B A S
= 1 94, 782, 140
JE A A
= 1 94, 782, 140
[EEIN L

=X 1 94, 169, 500

T AR oA HL 1 5
H 730 127,510 93, 082, 300

EGTAY N 1%
=X 1 1, 087, 200

[R5t

= 1 612, 640

HHH ] 2 =
=X 1 368, 640

BB H 3 &
= 1 244, 000

-1- [E -2z PIEHG AR R



RE R

¥EB4L | AT 6 FE L O ERE RSB ER E TEHE IREGE
H H EEEAM (F oMM <)
TEHH - IR - f - M) HAE BT & =S i AFA R HE A AEHE TR fi

EEEAM (F oA <)

= 1 94, 782, 140
Z O F AT

= 1 23, 542, 375
— e B

= 1 63, 715, 485
SEmEs

= 1 182, 040, 000
THE B %0

= 1 18, 204, 000
E S

= 1 200, 244, 000

-2 - [E -2z PIEHG AR R



N = iﬁ Al 4 A 2024. 02
/ﬁ( M :R BENERER 2024, 02
H = TR 1. 000-0000-0000-0000-0000-1-0 0
EGTAY
LW - B M HAL s HAT x| T L
B 48 22, 650 1, 087, 200
1, 087, 200
= iﬁ B 6 FH AF H 2024. 02
yﬁk 2 :R SRERIIER | 2024, 02
H = ESHEEIER | 1.000-0000-0000-0000-0000-1-0 0
=2 B
LT - B F HAAT e HAfff 448 HE
XY A ER N 4 B
1 368, 640
368, 640

FEszdmd  H E TR



HL{i 3 FH 47 A 2024. 02
AR AR A 2024. 02
TR 1. 000-0000-0000-0000-0000-1-0 0

1 W

%Lljll
I

&
%i'

RS

ein

- Bk eSS HAL % HLif

ao

Jc#y (SKEHL - 15N ) w 5

2V 1 244, 000

244, 000

-2 - FEszdmd  H E TR



N AW Al 4 A 2024. 02
1 /5( @ ’fﬂﬁ i’% ARG A 1 2024. 02
TR 1. 000-0000-0000-0000-0000-1-0 0

SRR AT \ \
B g e B
1 127,510
2 - i 1 (5 kR R o s
BN R (R [
H 1 127,510 127,510

127,510

127,510 |M/H

-1- FEszdmd  H E TR




